EER=R—ETiE Y E R B (R

BYB% A EK31E 48 4B(K)

[ ES @ HTE
T T
migd |HAE| &5 | AKE | GEAH) &% miER (MR F5 | KE | @EAH) &%
LY Ittt 2 517| 144,720 b Ittt 2 602| 642,600
4 It 3 812| 304,560 MY It 2 604| 637,200
4 It 4 783| 309,960 THEF i3 2 699| 745,200
LY Ittt 4 851| 321,840 b Ittt 2 750| 831,600
4 It 5 806| 304,560 MY It 2 765 810,000
24 It 5 890| 324,000 RHEF i3 2 973| 1,081,080
LY Ittt 6 926 436,320
4 It 7 717] 243,000
E i3 7 743| 197,640 [ YIES N
Ei i3 8 738| 278,640 migs  |MRIE| E | KE | Bad) &%
e Ittt 8 551 324,000
e It 12 622 511,920
M i3 13 434| 209,520
¥ BRLTWSEEXFTERISTY . 4 [ 13| 489 261,360
¥ ERREERERTLTVET, mE i3 14 686 521,640
4 i 14 452| 257,040




